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Soecimen Questions for Math Olvmoiad
class 6-8

t. to tt+alt drfi)rd fni)r{,er fsf gd ffi{,rr cE i fd a,-fr fib }in+?aer * radar t:
Choose the number which is different from other numbers?(l) 2s (2) 8l (3) 126 (4) s2s

2. f& ; rfr- s'o er A*' t ffrryr f{s A iler At ft!6r f{€, fd? <-a=, I rfl-as tgreffifrrffirrs'ail - 4

A piece of wire of rengh I m is broken into two parts. rf one of these parts is I m rong,
then find the length of the other part.
(r) ; fr. @ i1+. (3) : )+. (4) ; )ft.

3. 32 +(sX2)+72+8=________J
(1) 13 (2) 1t (3) 12 (4) 2s

4. 15 Er6 sE us s glrd Br d scsir.6 grs * + Ere' i' rGafr r us s sesns Br+o
*a?
After 15 years Ravi's age wifl be 4 times his present age. Find his present age.' (l) 10 ErE (2) 11Hr6 (3) tZ r.s (a) s srs

s. tr} drB fffi t ted6 d mr'e +B *t ftrr-d et ud f,-fl g uqe €'-.fi f.fu)?F .i Fd
e' frf.s uaQ I ey oUselring patterns, fill in the blank in third figure.AAAt/r,\' 

',/r"\' 
t/r\t

/ \ / \/ \
(l) 43 6 (2) st r (3) 30 . (4) 26

o. fiix rnrs e H'e uFA fr? ffrfr 666 ffr u) uclfH se*, & frFd)r{r + rst Hs.6
3 trs' trd* srrs fts ffi s-*& usr
A class of boys stands in a single line, one boy is 19th in order from both the ends,How many boys are there in the class ?(r) 38 (2) 37 (3) 30 (4) 26

t3,



- Soecimen euestions for Math Olvmoiad (Ctass 9_101
(1) ffi tri' ktrr' dEr6 arer a?

Which of the following statement is false:

a. nta {'fdF€-d ffoDr' trd yea ffom ir
Every natural number is a whole number.

b. d+a liyrd lifo)r' Fd qfdlq ffi+ar tr
Every Integer is a rational number.

c. ota uqigtlq rifoDr f8a 
"'rskd 

ffornr. tr
Every Irrational number is a real number.

d. Tld e-'rska }+folrr ffd auFolq ffl+rr. tr
Every real number is an irrational number.

(2) 5p-17q f{u fr +SB fr 4 -pr* sp qrtrs iir
Whatshould be addedto 5p-17q to get-p2+ 5p
(a)-p2 + 17q (b) -p2 - 12q (c) -p2 +3q (d) _p2 -Sq

(3) 2sx2- 10xy+ y2 Oresria a-e€ r

Factorize: 25x2- 10ry+ yz

(a) (sx+yx sx-y)
(c) (5x-2y)( 5x-2y)

(b) (Sx-y)( Sx-y)
(d) (5x+2y)( $x+!y;

(d) BcoDt

(4) ildd fr+ 75 g y+1 n s srdr *Jr re 3r E * i+dr
lf !F1+ 75 is divided by y+1, then remainder is(a)73 (br74 (c) 75 (d) 126

(s) +*s ABlfDE, IBAC=400 yra zCDE=s7o i
ZDCEu $.ry rrs'di .

lf ABllDE, ZBAC=400 and ZCDE=570 then
find the value of ZDCE.
(a) 350 (b) B3o (c)92o (d) 7So

(6) D-er6 tu i u.6 4 
=6.

By observing patterns, fill in the blanks
TABLE:UBCMF:: BENGH:
(a) cFDoG (b) cFDot 

--6y 
croor

(1) rf,a' fr ffS d f*s H.6 xerd Bi :

Fill the blanls in the given number series:
LO,3,4, -11,.......
(a) -12 (b) -18 (c) -1s

\,")

(d)-6


